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/ODA = 90° ©]E2 AB = 2AD
AD = V122 -82 = V80 =45
. AB=2AD =2x4+5 =85
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T} 10 A 5.0ptAB = HHA] 20| 7
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o171 sem 1 1] YRolek. A = A Zem P
B, ABLIP o] 3 [P = 2em % 1, =
AAPB 9] =27

@® 7+v2cm @ (16 V7 +3V2)cm
® (36 +2V7)em @) (47 + 8v2)em
® (2V7+4v2)em
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9] FH 05 1) Uehfio] BH
A 2FE AOAH A

AH = VOA? - OR2

(8)2-(6)2 = 2V7(cm)
oluf, A = BH = 2 V7cm 0| B2
ﬁ = 4\/70111 O]i-,-’

AP = /(AH2) + (HP?)
= /(2V7)2 +(2)? = 4V2(cm)
wHebAl, AAPB 9] E2ll= (8 V2 +4V7)(cm) ©Ith
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rr=92+(r-7)>2

r?=81+r?-14r+49

14r = 130




7. o I29lA A I= aABC o] WAon] 99] Aol RS = 5em
d o, PQ 9 Zol=?

@5cm @ 5v2cm ® gcm
@ 543cm ® 6cm

N7+ YA o] A oA WA ZF Hof o]2 = A=
Zy7r Aok, B3 Yof] FAHA Ao o]2= A7 EoH 1
@9 do|x »% Zt}, wtabd RS = PQ °]E& PQ = 5cm
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A=7F23, AB = 13, BC = 10 € 1, AABC 9] HH Y 2] ¥tz 59]
Aol & otoiet.

A AABC ol e S0 S H et oFH AH = V132 - 52 =
12

AABC 9 A9 MAES rolet bl L x10x12 =

(13 +13+10) x r
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9. the 17el 90 oA ALG RE)

yWol=? (&, AB=CD)
® 35cm? @ 40cm? ® 52cm?
@®)60cm? ® T72cm?

AB =CD °]|2& OM = ON = 5cm ©|t},
el ks A2 of o)

CN = V13252 =12

E3H CN = DN = 12cm

- 60CD = % X 24 x 5 = 60(cm?)




10. oS g gol 7tz 9, A28 ZAL A p
Z}9 ABCD ol & 91 0, O’ o] sk
A, F P2 A2 2]l et AP =3
A of, ¥ O 9] §Hx]59] dol& ot
2},

OO0’ = 3+r,OH = 8-(3+r) = 5-r
,OH=9-(3+r)=6-r°|B&
3+r)?2=(5-r2+(6-r)?
r?—28r+52=0
(r—2)(r-26)=0
Lr=2%Er=26

A 5-r>0, 6-r>0°A r<5o|Bz
Lr=2
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o= 2”0l 4 0 = 2ABC o WHHOIAL A D, E, F &= HHolt
AB=6, BC=7 AC=4°]|1DG:GB=2:3% i, AGBC 9]

Hole?
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AD=a & 59 AD = AF = g, BD = BE = 6—q, CE = CF =

g =1:39°]22 ADBC = %AABC o]ar
3

: 39|22 AGBC = gADBC
X Z x AABC = %AABC

H=xz3sdBH=6-x

_ 1
CH2=42-x2=72-(6-x)2.. x= -
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